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Worksheet 10

Brackets

(4+3)x2

! X2

4+(3x2)

(2+3)x5

2+(3x5)

(8-3)x2

8-(3x2)

(4+2)x3

4+(2x3)

Year 5

D A S

Division

18.5.20

Multiplication Addition Subtraction

REMEMBER THE CORRECT ORDER

Work out the brackets first

14

Division and

next

Lastly addition and subtraction

9)

10)

11)

12)

13)

14)

15)

16)

5x3+4

5+3x4

10+-2+3

10-6+2

(4+7)x3

A+7x3

10-3x2

(10-3)x 2

17) 5+2x4 =

18) 7x2-5 =

19) 14-3x3 =

20) 8+(3x5) =

21) 6x3-7 =

22) 12:2+4 =

23) 9-7+6 =

24) 9-(7+6) =



Worksheet 10 Answers

2)

3)

4)

5)

6)

7)

8)

(4+3)x2

7 x2
4+(3x2)
(2+3)x5
2+(3x5)
(8-3)x2
8-(3x2)

(4+2)x3

4+(2x3)

14

10)

11)

12)

13)

| =
0o

5x3+4

5+3x4 =

100-2+3 =

10-6+2 =

4+7)x3 =

14) 4+7x3 =

15)

16)

10-3x2 =

(10-3)x2 =14
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17) 5+2x4

18) 7x2-5

19) 14-3x3

20) 8+ (3x5)

21) 6x3-7

22) 12+2+4

23) 9-7+6

24) 9-(7+6)
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